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Principle of Mathematical Induction.
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principle of mathematical induction, P(n) holds for all n

All cows have exactly the same number of spots.

One cow has the same number of spots as 
itself.

The first k cows all have the same number of spots. So do the last k 
cows. And hence all k+1 cows have the same number of spots. QED
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The induction fails to go from n = 1 to n = 1 +1 =2. There's no overlap 
in the case n=2 in the middle cows.

Proved: if the 10th domino falls, then so must the 11th. Similarly,
if the 2nd domino falls, then so must the 3rd, and forever.
We failed to prove that the first domino falling knocks over the 2nd.
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We assume that ANY collection of 3 cows has the same number of 
spots.
Look at 4 cows. The first three 
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